Sep.1.2021 Copyright 2021 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

28.55 £ 0.5

1 2 3 5 6 \ 7 8
(79.2) AA
Press
76.2 41 fitting
65.5 £ 0.3 CHole of @)
3 40.2
2X¢4.5*0.3 36.5 £ 0.2 -0.5 /K\ jl\l\\}
\M\ T 1 I
A W )
—v—|_ ]
) . ) [
23 @ ) I ° 8
% H —
I

[2>M ex bolt specifications:

Notes hmmmended tightening torque of the M4 Pan head screws is 1.5 to 1.6 N-m.
i
Moteri

ess of the busbar + (10 to 15mm
The recommended ning torque: 6.0 to 6.5 N-m
[3>To prevent the M4 Pon head screw and M8 Hex bolt from Loosening, it is recommended that Henkel
Japan's loctite 243, or equivalent, be applied to this product.
[4 >Recommended busbar plating: Tin plating
(If o tin plating is not used. be caoreful of galvanic corrosion)
AWARNING 5 This connector is not hot plugable.
A\N[6>This product sholl be moted/urnated with the Hex bolt fixed os shown in Connector Installation Figure.
If there are no bolts, part @ will come off.

2 |Steel Nickel plating 4 |Copper alloy Tin plating 1&«m min.
1 Polyphenylene sulfide| UL94V-0 CBlackD 3 |Stainless steel
NO. MATERIAL FINISH . REMARKS NO. MATERIAL FINISH . REMARKS
UNITS @ g SCALE COUNT DESCRIPTION OF REVISIONS DESIGNED CHECKED DATE
mm 101 A 2 DIS-C-00002349 TP. KOMATSU YH. YAMADA 18. 06. 07
11 ROSE APPROVED +$U. OBARA 15.11.13 DRﬁ\g.ING FDC-118968-00-00
CHECKED :YH. YAMADA 15.11.13 [pART
ms EBEC[%C DESIGNED + HS. KAWASHINA 15,1113 |_NO. EV2-30R-198B
R oHS KAWASHINA  15.11.13 | ‘wo. CL139-0200-7-00 |A[}7
FORM HC0011-5-7 | 2 3 5 \ 6 \ 7 \ 8




Sep.1.2021 Copyright 2021 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 3 4 5 6 \ 7 8
Distalled Panel DinensionsC1:2) 4 Connector Installotion Figure
[3>[2>
[4> M8 Hex Bolt Please fix EV2-30R-15B to the
MAXO0. 7. with blind hole e 1.5 £ 0.1 Busbar Coommercial item) EV2-30R-158 panel so that it sticks.
6 *
: T
§ A
Ll @ | | )
B 5 =
O
. 45 £ 0.1 MIN.
\
- AN
- __ <
g o RAL
H &b 9 MAX. /_
N |G Y
SO, M%7
Jmmt JT I T TV T\ /? / 5.5 1 0.2
Q\ > [ y
M4 Pan head screw ]
N B-8 & Ccommercial item)
| 20 + 0.01 i@
— 131N with blind hole i1 /V
N QQ B
— Mating f 1 Y
. reference . 1] V 1
C (— h;(:grl][e]g reference % plane Z ;] \ |
(1:1) Ji= ; B
1.5+ 0. = A_M.é
/\” e AT > p A U B A
. e Y,
Try not to burr pleose <
H
/ Rz3.2 =
Waterproof surface ©
) / RAVING FDC-118968-00-00
w Shapes with undescribed dimensions are shown os an example ms PART FV2-30R-1SB
“No CL139-0200-7-00
FORM HCO011-5-8 | \ 3 \ 4 \ 5 6 \ 7 \ 8




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Hirose Electric:
EV2-30R-1SB



https://www.mouser.com/hirose
https://www.mouser.com/access/?pn=EV2-30R-1SB

